

THE BOARD OF DIRECTORS

PATRICIA ADAMS
Chair and President
ANN CAVOUKIAN
Executive Director, PBDI, Ryerson University
ANDREW COYNE
Columnist, National Post
IAN GRAY
President, St. Lawrence Starch Co. Ltd.
BRUCE PARDY
Professor of Law, Queen's University
ANDREW ROMAN

MAX ALLEN
Producer, CBC Radio
DAVID CAYLEY
Writer and Broadcaster
GLENN FOX
Economist, University of Guelph
CLIFFORD ORWIN
Professor of Political Science, University of Toronto
GAIL REGAN
President, Cara Holdings Ltd.
GEORGE TOMKO
Expert-in-Residence in IPSI, University of Toronto

February 28, 2019

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street Toronto, ON M4P 1E4

Dear Ms. Walli,

RE: EB-2018-0016: Alectra Utilities 2019 Rates Application Energy Probe Cost Claim

Attached is the cost claim of Energy Probe Research Foundation. Copies of the claim have been posted on RESS, delivered in hard copy and by e-mail to the OEB, and by e-mail to the applicants.

If you require any additional information regarding this claim, do not hesitate to contact me.

Respectfully submitted on behalf of Energy Probe.

Tom Ladanyi

Consultant Representing Energy Probe

416 423-3685

tom.ladanyi@rogers.com

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			<u>l</u> i	nstructions			
 All claims n A separate Disbursement However, or The cost claim A CV for ea 	nust be in Canadian dolla "Detail of Fees and Disb nts Being Claimed") is really one "Summary of Fee aim must be supported be ach consultant/analyst m	ursements Being of the properties of the properties and Disbursements as completed Afrust be attached united to the properties of the prop	Rate ex Rate: Claimed wyer, ar ents" cov fidavit s	rmulas are embedded in the schange rate and country of "(comprising a "Statement of alyst/consultant and articlinivering the whole of the party igned by a representative of ovided to the Board as presonic prection on Cost Awards, ite	initial currency. Country: of Fees Being Cling g student/para r's cost claim sh the party. cribed on the Co	aimed" and a "State legal. ould be provided. ost Award Tariff.	
File # EB-	EB-2018-0016			Process: Alectra Utilitie	es		
Party:	Energy Probe Resea	rch Foundation		Affiant's Name: T	homas J. Lada	nyi	
HST Numbe	er: 10730 5146 RT	0001		HST R	ate Ontario:	6.50%	
		gistered		Qualifyin	g Non-Profit Tax Exempt		
				Affidavit			
l,		J. Ladanyi		, of the City/Town of		Toronto	
in the Prov	vince/State of	Ontari	io	,	swear or affi	rm that:	
2. I have exa Being Claime 3. The attach Disbursemer Ontario Ener 4. This cost of	mined all of the docume ed", "Statement(s) of Fee ned "Summary of Fees an nts Being Claimed" including rgy Board process referre	entation in suppor es Being Claimed" and Disbursements de only costs incur ed to above. any costs for work o	t of this and "Sta Being C rred and) and as such have knowledge cost claim, including the attement(s) of Disbursements claimed", "Statement(s) of Fe d time spent directly for the particle time spent, by a person that ection on Cost Awards.	ached "Summal s Being Claimed ees Being Claime ourposes of the	ry of Fees and Disbu ". ed" and "Statement Party's participatio	ursements (s) of on in the
Signature	of Affiant	3'					
Sworn or a	affirmed before me	at the City/Tov	wn of	Toroi	nto		
	vince/State of	Onta		, on	February 27	, 2019 .	
					(date)		

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Commissioner for taking Affidavits

File # EB- EB-2018-0016

Process: Alectra Utilities

Party:

Energy Probe Research Foundation

Su	mmary of Fee	es and Disbursemen	nts Being Claimed	
Legal/consultant/other fees	\$	20,800.00		
Disbursements	\$			
HST	\$	1,352.00		
Total Cost Claim	\$	22,152.00		

Payment Information

Make cheque payable to: Energy Probe Research Foundation

Send payment to this address: 225 Brunswick Avenue

Toronto, Ontario

M5S 2M6

Attention: Frank Cianflone

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2018-0016	Process: Alectra Utilities						
Party:	Energy Probe Research Foundation	on	Service Pro	vider Name: Tom Ladanyi	: Tom Ladanyi			
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Years Proof Relevant Ex				
	Legal Counsel Articling Student/Paralegal			44				
	Consultant Analyst	7		Hourly Rate:	\$330			
***	For Consultant/Analyst:	☐ CV attac	thed ided within previous	HST Rate Charged (enter %):	6.5%			

St	atement o	of Fe	ees Being	Cla	imed				
	Hourly Rate		Subtotal		HST		Total		
Pre-hearing Conference	8	V 1							
Preparation		\$	330.00	\$		\$	_	\$	- 1
Attendance		\$	330.00	\$		\$	-	\$	
Technical Conference							2		
Preparation		\$	330.00	\$		\$	=	\$	-
Attendance		\$	330.00	\$	- · ·	\$	_	\$	
Interrogatories									
Preparation	5.00	\$	330.00	\$	1,650.00	\$	107.25	\$	1,757.25
Responses		\$	330.00	\$	-	\$	_	\$	-
Issues Conference					81 ₂₆₅ ⁶				
Preparation		\$	330.00	\$	-	\$	-	\$	_
Attendance		\$	330.00	\$		\$	-	\$	_
ADR - Settlement Conference									
Preparation	3.00	\$	330.00	\$	990.00	\$	64.35	\$	1,054.35
Attendance	12.00	\$	330.00	\$	3,960.00	\$	257.40	\$	4,217.40
Proposal Preparation	3.50	\$	330.00	\$	1,155.00	\$	75.08	\$	1,230.08
Argument									
Preparation	20.50	\$	330.00	\$	6,765.00	\$	439.73	\$	7,204.73
Oral Hearing									
Preparation	14.00	\$	330.00	\$	4,620.00	\$	300.30	\$	4,920.30
Attendance	4.00	\$	330.00	\$	1,320.00	\$	85.80	\$	1,405.80
Other Conferences									
Preparation		\$	330.00	\$	-	\$	4.1	\$	
Attendance		\$	330.00	\$	-1	\$	_	\$	
Case Management	2.00	\$	170.00	\$	340.00	\$	22.10	\$	362.10
TOTAL SERVICE PROVIDER FEES				۸.	20,800.00	\$	1,352.00	\$	22,152.00

TL Energy Regulatory Consultants Inc.

Date: 4 January 2019

To: Frank Cianflone Energy Probe Research Foundation 225 Brunswick Ave. Toronto, ON M5S 2M6

Invoice No: EPRF 2019-01

From:

Tom Ladanyi, President TL Energy Regulatory Consultants Inc. 41 Divadale Drive Toronto, ON M4G 2N7

Phone: 416-423-3685

E-Mail: tom.ladanyi@rogers.com

OEB Docket: EB-2018-0016 Alectra Utilities 2019 Rates

Date	Description of Work	Hours		Rate		Amount
2018-08-24	Evidence review and IR	5	\$	330.00	\$	1,650.00
2018-10-15	ADR preparation	3	\$	330.00	\$	990.00
2018-10-16	Settlement Conference	6	\$	330.00	\$	1,980.00
2018-10-17	Settlement Conference	6	\$	330.00	\$	1,980.00
2018-10-24	Drafting submission	1	\$	330.00	\$	330.00
2018-10-26	Drafting submission	2	\$	330.00	\$	660.00
2018-10-30	Filing submission	0.5	\$	330.00	\$	165.00
2018-10-31	Reviewing submissions	1	\$	330.00	\$	330.00
2018-11-09	Hearing Preparation	3	\$	330.00	\$	990.00
2018-11-26	Hearing Preparation	2	\$	330.00	\$	660.00
2018-12-02	Hearing Preparation	2	\$	330.00	\$	660.00
2018-12-03	Hearing Preparation	4	\$	330.00	\$	1,320.00
2018-12-04	Hearing Preparation	2	\$	330.00	\$	660.00
2018-12-05	Hearing	4	\$	330.00	\$	1,320.00
2018-12-08	Argument	3.5	\$	330.00	\$	1,155.00
2018-12-09	Argument	3	\$	330.00	\$	990.00
2018-12-10	Argument	3	\$	330.00	\$	990.00
2018-12-11	Argument	3	\$	330.00	\$	990.00
2018-12-16	Argument	4	\$	330.00	\$	1,320.00
2018-12-17	Argument	4	\$	330.00	\$	1,320.00
	Case Management	2	\$	170.00	\$	340.00
			S	ubtotal:	\$	20,800.00
	GST/HST No: 77848 0921 RT0001					2,704.00
Make cheque pa	Make cheque payable to:				\$	23,504.00

TL Energy Regulatory Consultants Inc.